g/ d N°®

Ratio to ATLAS

d H>*"Y [pb/GeV]

=
<
[y

|
o
R

1073

10

0.5

13000 GeV pp tt
L O L O B Y I B BN B I )
— o
— ttHT (ATLAS semileptonic ttbar) —
[ 1
- m ATLAS 13
— Pythia 6.425 ambtl N
— e Pythia 6.425 71 1=
— —— Pythia 6.425 z2 =5
2
~ = n =
- 1@
™
: 1
O
o
™
- —{
— .=
— e
- .8
| I
S
| —
} |8
@
IS
L _1g
| T HEN NP TR AU R TN SENPU RA ANNUT N TN AU R AU NN SRR SR T mEs
L
— —2
B ] 1
| —0.5
P TP T SR S P TP T SR S P TP T SR S P TP T SR S |
0 500 1000 1500 2000

H* [GeV], N 2 7



	Contents
	Page 1


